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- ~ (8%) Lin Company issues 800 convertible bonds at January 1, 2012. These are three- year bonds, and are
issued at par with a face value of $1,000 per bond, giving total proceeds of $800,000. Interest is payable
annually (12/31) at 6 percent. Each bond is convertible into 250 ordinary shares (par value of $1). When the
bonds are issued, the market rate of interest for similar debt without the conversion option is 8%. Lin
Company’s income before interest expense and taxes for year 2013 is $300,000. The income tax rate of Lin
Company is 20%. The 500 convertible bonds were actually converted on April 1, 2013.

Instructions
1.Compute the amounts of the liability and equity component of the convertible bond on January 1, 2012.

2.Compute the interest expense for year 2013.

= ~ (10%) On January 1, 2011, Cheng Company contracted to build a plant for Red Company, the total
contract price is $1,900,000. The costs and billings for this contract for the 3 years are as follows.
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At At At
2011/12/31 2012/12/31 2013/12/31
Costs incurred to date $300,000 $1,200,000 $2,100,000
Estimated costs to complete 1,200,000 800,000 0
Billings to date 300,000 1,100,000 1,900,000

Instructions
1.Compute the amounts of the contracts revenue and gross profit (loss) for year 2011, 2012 and 2013, if the
outcome of a construction contract cannot be estimated reliably, the costs incurred during the year 2011 is
expected to be recoverable $200,000, and Cheng Company expected in year 2012 that total recoverable
amount of cost incurred during year 2011 and 2012 is $1,100,000.
2.Using the percentage-of-completion method, compute the amounts of the contracts revenue and gross
profit (loss) for year 2011 and 2012.

= ~(5%) On December 31, 2012, John Company’s accounts receivable balance is $800,000, the detail
including individually significant receivables have AAA Company $100,000, BBB Company $180,000 and
CCC Company $320,000, all other receivables (are not individually significant receivables) $200,000. John
Company determines the BBB Company’s receivable is impaired by $20,000, and CCC Company’s receivable
is impaired by $50,000, the AAA Company’s receivable are not considered impaired. John Company
determines that a composite rate of 5% is proper to measure impairment on all other receivables, all
receivables have the similar credit-risk characteristics.

Instructions
Compute the impairment of accounts receivable of year 2012 for John Company.

z ~ (12%) Silver Company uses revaluation accounting for equipment. The equipment was purchased on
January 2, 2013, for $250,000; it has a 10 year useful life with no residual value. Silver Company has the
following information related to the equipment. (The estimated useful life and residual value does not change
during the periods presented below.)
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Date Fair Value
2013/01/02 $250,000
2013/12/31 234,000
2014/12/31 203,840

Silver Company transferred the surplus as the equipment asset is used.

Instructions

1.Compute the amounts to be reported by Silver Company on financial statement at December 31, 2014, as
Equipment (including revaluation amount), Accumulated Depreciation, and Accumulated Other
Comprehensive Income. If accumulated depreciation at the date of the revaluation is eliminated against
the gross carrying amount of the equipment and the net amount restated to the revalued amount of the
equipment.

2.Data same as above item 1, except if accumulated depreciation at the date of the revaluation restated
proportionately with the change in the gross carrying amount of the equipment.

7 ~ (6%) Walk Company use the gross profit method to estimate inventory for monthly reporting purposes.

Presented below is information for the month of January.

Sales (gross) $900,000
Sales returns 100,000
Purchases discount 12,000
Freight-in 30,000
Freight-out 50,000

Purchases (gross) is 400% of beginning inventory.

Beginning inventory is 50% of ending inventory.

Instructions
Compute the estimated inventory at January 31, assuming that the gross profit is 1/3 of cost. (Please use
fractional number (e.g. 1/3 of cost, not 33.33% of cost) to express the gross profit rate in computing
process)
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